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GENERAL INSTRUCTIONS:-

(a) All the questions are compulsory.

(b) Question no 1 to 20 carry 1 mark each.
(c) Question no 21 to 25 carry 3 marks each.
(d) Question no 26 to 28 carry 4 marks each.
(e) Question no 29 to 31 carry 5 marks each.
(f) Question no 32 to 34 carry 6 marks each.

1. Profits do not have to be shared. This statement refers to .

(a) partnership (b) joint Hindu family business (c) sole proprietorship (d) company
2. Provision of residential accommodation to the members at reasonable rates is the objective of .
(a) producer’s cooperative (b) consumer’s cooperative
(c) housing cooperative (d) credit cooperative
3. Minimum number of members to form a public company is .
(a) 5 (b) 7 (c) 12 (d) 21
4. A prospectus is issued by
(a) a private company (b) a public company seeking investment from public
(c) a public enterprise (d) a public company
5. PSE’s are organization owned by :
(a) joint Hindu family (b) government  (c) foreign companies  (d) private entrepreneurs
6. Which of the following is not a function of insurance?
(a) Risk sharing (b) Assist in capital formation (c) Lending of funds (d) None of these

7. Which of the following can explain the need for pollution control?
(a) Cost savings  (b) Reduced risk to liability ~ (c) Reduction of health hazards (d) All of these
8. The equity — based joint venture does not include

(a) cooperative development (b) company
(c) partnership (d) limited liability partnership
9. DTH services are provided by :
(a) transport companies (b) banks  (c) cellular companies (d) none of the above

10. E-Commerce does not include :
(a) abusiness’s interactions with its suppliers
(b) a business’s interaction with its customers
(c) interactions among the various departments within the business
(d) interactions among the geographically dispersed units of the business
11.  Which of the following alone can ensure effective ethics programme in a business enterprise?
(a) publication of code (b) involvement of employees
(c) establishment of compliance (d) none of them
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If a company suffers heavy issues and its assets are not enough to pay off its liabilities, the balance

can be recovered from the private assets of its members. (true/false)

In this type of hundi the merchant on whom the hundi is drawn has to, have
certain level of credit worthiness in the market

(a) Nam — Jog hundi (b) Sahjog hundi

(c) Dhani — Jog hundi (d) Furman - Jog hundi

The type of global trade which took place through sea route was known as___.
(a) muziris (b) taxila

(c) martitime (d) shores of Malabar
Increase in competition is a type of___.

(a) human risk (b) natural risk

(c) economic risk (d) political risk

Can minors be the members of Hindu — Undivided Family business?
The private sector is responsible for developing all regions and states in a
balanced way and removing regional disparity. (true / false).
Ethical standards are often enacted into laws. (true/false)
An ATM is an example of
(a) B2B commerce (b) intra B commerce  (c) C2C commerce (d) none of these
Which of the following is a type of marine insurance policy?
(a) freight insurance (b) ship insurance
(c) cargo insurance (d) none of these
Explain any three types of bank accounts.
Elaborate the steps involved in on-line trading.
Why do the enterprises need to adopt pollution control measures?
What are business ethics? Mention the basic elements of business ethics.
State any three differences between e- business and traditional business.
Write a short note on various telecom services available for enhancing business.
Explain the functions of commercial banks with an example of each.
Why global enterprises are considered superior to other business organization?
State and explain any six reasons of inefficiency in operation of Government Enterprise.
Explain the following terms. Also mention the name of organization they are related to.
(a) Perpetual succession (b) Common seal (c) Karta (d) Artificial person
A Promoter is like a parent to a joint stock company. Explain in
detail the role of a promoter and his legal status in the formation of a company.
Distinguish between business, profession and employment.
Define auxiliaries to trade. Discuss various auxiliaries to trade.
Life insurance Corporation of India is the largest insurance company in India. It is headquartered
in Mumbai. It was founded in the year 1956 when the Parliament of India passed the Life Insurance
of India Act that nationalized the private insurance industry in India. Over 245 insurance companies
and provident societies were merged to create the state owned Life Insurance Corporation.
In context of the above case, answer the following.
(a) Life Insurance Corporation of India is classified as which form of public sector enterprise?
(b) Was it necessary for the Parliament of India to pass the Life Insurance of India Act for its
formation? What does the act define?



(c) State any three merits of the promotion of Life Insurance Corporation of India in a particular
form of public sector enterprise as identified in part (a) of the question.



